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V.'

S 72. (I».i«o 75.)

1. j:>+ y« = 5. 1:J. 5r»+y'-4j: + «i/- IC.

2. (^ - «)» + (;, - 2)' - «. 15. 47 (r' + ./') - 181^ + ;J4 1 „
a. 0+5)' + (v + l)'. :2»J. llKHi= 0.

4. <«' + '»' <'.
!(]. I 10.

5. (.,>(3, 1). 5; (l.){ I, -i), ,. j^^ .y

i :};«)

~-i (') •"', 0), 7; (</) '-'« 2r-5j/=16.

(0, -/'). V
+<•'.

8. x' + |/»-.i 7.7 = 0.

9. u' +;/'.'!.. iy.

11. (.()/ 0; (/.)r,=.0.

12. .«-' + f/'-4jr + 4t/ = 2.

22. lUU.

2;{. 14 (.« + !/) -17.

24. r^,'.

25. (/,+A)(.r' + j,')-(;,» + i-';(^.+

]/)--0.

!5 81. (Pago 85.)

1. ('«) 3x+ oij = 3i; (h) .V 4;/

+ 11-0; (r)l'_'., -(-5y=
%; ((0!/r+/;/-0.

2. ./-.#: ± ,'70. 10
u. (.() Aj: + B;, ±/iA-tB'; 17. (A'+ B-) (a-'+!/»)=C».

1«5. .-.5!/ = :5;
^21±3>/11!»
V 10 '

3±v/ll«\

(/.) B..' Ay =

±)yA^+B'.
4. (2, 4).

5. (0, 1).

6. (<i)C'^-r^A' + B'); {!>) (A,j

+ B/ - C)- =- (A' + B')

(</+/'-<).

7. o»6»=r'(a'+ />0-

8. r=^^;/'.

«;!• + 28^5-0.

10. y -
, ;{ y+ 3 ^ 3 - 1 = 0, a„,l

a-- ^/3~;/-5^/3-l = 0.

13. (j- - ,,) cos a + ((/ - /•) s.,-„ a == ,-.

14- (V'.-V); 4x+3,/ + l=^0.

18. 34(..^ + ;/')-47«w- 13G|/

+

1753 = 0.

15>- a, D;(i7, -13).

triinsverso, 12(5y - 7) = ( - 21

±5v/15)(5x-l);
iliifct, 24(v+13) = (-21±

X 21)(x-17).

20. direct, j/ = 9 and 3a+4v + 3
= 0;

transverse are imaginary.

v2, {Oand(-l, 0) on xHi/'
-4.f-8!/-5 = 0;

(5, {)and {\, -
.?) on .r»+,/»

-10x-f);/-2 = 0.

21. X + 3// + ;/ + 3/ +

V iO(;/H/»^= 0.

22. a-,/3
2/+ 10= 0.


